
O:=point(0,0)

point(0,0)

A:=point(6,0)

point(6,0)

B:=point(0,-6)

point(0,-6)

segment(A,B)

segment(point(6,0),point(0,-6))

a:=element(0 .. 6,1.86)

parameter(a,0,6,1.86)

M:=point(a,0)

point(1.86,0)

N:=point(0,-6+a)

point(0.0,-4.14)

segment(M,N)

segment(point(1.86,0),point(0.0,-4.14))

f:=x->aire(triangle(point(0),point(0,-6+x),point(x,0)))

// Success
// End defining f
 (x)->aire(triangle(point(0),point(0,-6+x),point(x,0)))

P:=point(a,f(a))

point(1.86,3.8502)

coordonnees(P)

[1.86,3.8502]

plot(f(x),x=0..6,couleur=vert)

plotparam(x+(i)*(-x*(-6+x))/2,x=0.0..6.0)

f(x)

(-x*(-6+x))/2
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